
Sids of revolution
v =) (1 -x)dx =..

Take a region in
the plane and rotate it about

the x-axis :

·
V = / f(xdx ,

"disk method"



Y

Eg : H

-
-g(x)~Ex

V =C (f(x)-g(x))dx

"washer method" a) )
= (R - r2)



Eg. Find the volume of a solid of revolution formed by
revolving the region bounded by

the graphs
y =v and

y
= - over the interval (1 .3) around

the X-axis
.

X
v = j , + (k - (x))da = +) "x - x 7 dx



= + ([x- )) = + (zx + z))
= n(q + - - (z + 1))
= +(3 + 5)

V=

Prem Use the disk method to compute the volume

balofdid



vJv d=
V = Dir

=( - 5 -(+))
= π(z23 -2)

Cylindrical Sus
&

What if we rotate [(xy)/axb , ocyf(x)) around the
y-axis ?

= f(x

~X
a b



Slice into "shells" :

Y

=
f(x

=> F
X

X

Sunroll
-

-

Thus V=xf(x)Ax T
and V=lim

Vshelle 2 f(x) Ax
=> V= 2xf(x)d

"shell method"



E
..g.

Find the volume of the solid created by revolving
R = ((x,y)/1x2

,

02 y
=x around the yaxis.

-P~............
W

I 2 i

V =J
,

2xx-x-dx =2)xdx =

2



Problem Find the volume of the solid formed by
revolving R = ((xy) (02X22 ,

0 =

y
= x

,
2-x)

around the x-axis-

y
= X

.
Gyn-x-

By disks
: By shells

: xy X : zy

V= Jon x dx + j,+ (2-x)dx I v = S, 2xy (2-y -y) dy
= S. 2+y (2- zy) dy


